
Class:Class 1 Subject: Maths Topic:Subtraction

S.No Question Answer Options

1 Choose the correct option : 
8 - 4 =

3

4

5

6

3

4

5

6

2 Choose the correct option : 
9 - 1 =

4

6

8

10

4

6

8

10
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3 Choose the correct option : 
10 - 7 =

3

2

1

4

3

2

1

4

4 Subtract the following : 14 - 
12 = ____________

Answer
____________

Answer
____________

5

Solve the following problem : 
Seema has 12 ribbons. She 
uses 4 ribbons on her dolls. 
How many ribbons does she 
have left with her? 
____________

Answer
____________

Answer
____________
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Correct Answer is
1. Correct Ans option is 4
2. Correct Ans option is 8
3. Correct Ans option is 3
4. Correct Answer is 2
5. Correct Answer is 8
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